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Six persons J, P, Q, R, V, Z are sitting in a row. Some of them are facing north 
while some of them are facing south. J sits second from one of the extreme end 
of the row. P sits third to the right of J. R is not an immediate neighbor of P and 
Z. Both the immediate neighbors of V faces opposite direction. Both the 
Immediate neighbors of Z faces same direction. V sits second to the left of P. Q 
sits to the right of R. R faces north. Q faces same direction as Z. 

छहव्यक्ति J, P, Q, R, V, Z एक पंक्तिमें बैठे हैं। उनमें से कुछका मुख उत्तरकीओर है

जबकक कुछका मुख दकिणकीओर है। J पंक्ति के ककसी एक अंकिम छोर से दूसरे

स्थान पर बैठा है। P, J के दायें से िीसरे स्थान पर बैठा है। R, P और Z का कनकटिम
पडोसी नही ं है। V के दोनो ं कनकटिम पडोकसयो ंका मुख किपरीि कदशा में है। Z के दोनो ं
कनकटिम पडोकसयो ंका मुख समान कदशा कीओर है। V, P के बायें से दूसरे स्थान पर
बैठा है। Q, R के दायें बैठा है। R का मुख उत्तरकीओर है। Q का मुख Z के समान कदशा
कीओर है।
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Six persons J, P, Q, R, V, Z are sitting in a row. Some of them are facing north 
while some of them are facing south. J sits second from one of the extreme end 
of the row. P sits third to the right of J. R is not an immediate neighbor of P and 
Z. Both the immediate neighbors of V faces opposite direction. Both the 
Immediate neighbors of Z faces same direction. V sits second to the left of P. Q 
sits to the right of R. R faces north. Q faces same direction as Z. 
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1. Four of the following five are alike in a certain way, and so form a 
group. Which of the following does not belong to the group? 
कनम्नकिक्तखि पांच में से चार एक कनकिि िरीके से समान हैं, और

इसकिए एक समूह बनािे हैं। कनम्नकिक्तखि में से कौन समूह से
संबंकिि नही ं है?

(a) R, V (b) V, P (c) J, P (d) V, Q (e) J, R

2. What is the position of Q with respect to Z? 
Z के सन्दर्भ में Q का स्थान क्या है?

(a) Second to the left (b) Third to the right (c) Third to the left (d) Fifth to 
the right (e) Second to the right

3. Who amongst the following sits exactly between Z and J? 
कनम्नकिक्तखि में से कौन Z और J के ठीक बीच में बैठा है?

(a) R (b) P (c) Q (d) Both V and Q (e) V
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4. How many persons in the given arrangement are 
facing North?
दी गई व्यिस्था में ककिने व्यक्ति उत्तर की ओर उनु्मख
हैं?

(a) More than four (b) Four (c) One (d) Three (e) Two

5. Who is sitting 4th to the right of Q?
Q के दायें से चौथे स्थान पर कौन बैठा है?

(a) R (b) Z (c) P (d) J (e) None of these
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Statements: 
Only a few Paresh are Puri.  
All Puri are Amrish.  
All Rawal are Amrish.  

Conclusions: 
I. Some Paresh are not Rawal.   
II. Some Amrish are Puri.   
(a)If only conclusion I follows  
(b) If only conclusion II follows.  
(c) If either conclusion I or II follows.  
(d) If neither conclusion I nor II follows.  
(e) If both conclusions I and II follow. 
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Statements: 
Only Letter is Post.  
Some Office are not Post.  

Conclusions: 
I. All post are letter is a possibility 
II. All Office are letter is a possibility.  

(a)If only conclusion I follows  
(b) If only conclusion II follows.  
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows.  
(e) If both conclusions I and II follow
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Statements: 
Only Heart is Spade.  
All Heart are Diamond.  
Only a few Club are Spade.  

Conclusions: 
I. Only a few Diamond are Club.              
II. Some Heart are not Club.  

(a)If only conclusion I follows  
(b) If only conclusion II follows.  
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows.  
(e) If both conclusions I and II follow.
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Statements:
All Jeep are Car.  
Some Toyota are Car. 

Conclusions:
I.All Jeep are Toyota is a possibility.            
II.All Car are Jeep is a possibility.   

(a)If only conclusion I follows  
(b) If only conclusion II follows.  
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows.  
(e) If both conclusions I and II follow. 
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.Statements:
Some Monday are Blue.  
All Day are Fun.  
Some Blue are Fun.  

Conclusions:
I.Some Monday are not Fun.            
II.All Blue are Day is a possibility.   

(a)If only conclusion I follows  
(b) If only conclusion II follows.  
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows.  
(e) If both conclusions I and II follow.
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Statements:  
P > H ≥ U = O ≥ Y < L

Conclusions: 
I. H > O  
II. L < H 

(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow. 
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Statements: 
W < D = F ≤ G < J; D > M ≥ N > B 

Conclusions: 
I. G > M   
II. W > F 

(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow. 
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Statements:  
D = S ≤ F < B > V ≥ C 
Conclusions: 
I. F > C  
II. B > D 

(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow. 

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Statements:  
A > B = C ≥ D ≤ E < F

Conclusions: 
I. B > D  
II. F > D  
(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow. 

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Statements:  
G < I ≤ F = M ≤ E > N ≥ O

Conclusions: 
I. N < G 
II. F < O

(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow. 
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There are eight members in a family of three generations in which two are married couples.  T is 
grandfather of V. F is the daughter-in-law of B. G is the daughter of A who is married to E’s father.  P 
is child of E who is sibling of G. V is the only daughter of F.T is not married to A. िीन पीक़ियो ं के एक

पररिार में आठ सदस्य हैं कजनमें दो कििाकहि जोडे हैं। T, V का दादा है। F, B की पुत्रििू है। G, A की पुत्री है, 

कजसका कििाह E के कपिा से हुआ है। P, E की संिान है, जो G का र्ाई है। V, F की इकिौिी पुत्री है। T, A से
कििाकहि नही ं है।

How is T related to F? 
(a) Father 
(b) Father-in-law 
(c) Grand-father 
(d) Grand- Son 
(e) Either (c) or (d 

Four of the following five belong to a group in a certain way, find 
which of the one does not belong to that group? 
(a) T. 
(b) E. 
(c) P.
(d) V.
(e) B.

How V is related to G? 
(a) Sister 
(b) Niece 
(c) Grand-mother 
(d) Grand- daughter 
(e) Either (c) or (d) 
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Seven people viz. A, B, C, D, E, F and G lives in a Building on 
eight different floors such as ground floor is numbered one , 
the floor just above is numbered 2 and so on till top floor 
numbered as eight but not necessarily in the same order. One 
of the floors is vacant.  There is a gap of more than three 
floors between D and B. D lives above B but not on top floor. C 
lives immediately above B. E lives on floor number 4. F lives 
immediately below E. A lives above G, who lives on an even 
numbered floor.

साि िोग अथाभि। ए, बी, सी, डी, ई, एफऔरजीआठअिग-
अिग मंकजिो ं पर एक इमारि में रहिे हैं जैसे रू्ििकी संख्या एक

है, ऊपरकी मंकजिकी संख्या 2 है और इसी िरह शीर्भ मंकजिकी

संख्याआठ है, िेककन जरूरी नही ं कक एक ही क्रम। इनमें से एक
मंकजिखािी है। D और B के बीच िीन से अकिक मंकजिो ंका अंिर
है। D, B के ऊपर रहिा है िेककनशीर्भ मंकजि पर नही।ं C, B के
ठीकऊपर रहिा है। E मंकजि संख्या 4 पर रहिा है। F, E के ठीक
नीचे रहिा है। A, G के ऊपर रहिा है, जो एकसम संख्या िािी

मंकजि पर रहिा है।
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Who among the following lives on ground 
floor? 
(a) B. (b) G (c) F (d) A (e) None of these 

Who among the following lives immediately below the 
vacant floor? (a) G (b) A (c) E (d) D (e) None of these 

How many persons lives between D and C? (a) One (b) 
Three (c) Four (d) Two (e) None of these 

Who among the following lives on Top floor? (a) A (b) D 
(c) F (d) G (e) None of these 

Which of the following floor is vacant? (a) 8th  (b) 6th  
(c) 2nd  (d) 1st  (e) 5th  
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How many such numbers are there which is preceded by alphabets 
and followed by symbols?  
ऐसी ककिनी संख्याएँ हैं कजनके पहिे अिरऔर बाद में कचन्ह हैं?

(a) None   (b) One (c) Two (d) Three (e) More than three 
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Which of the following element is 15th from right end of the series?
कनम्नकिक्तखि में से कौन सा ित्व श्रंखिा के दायें छोर से 15िां है?

(a) J. (b) H (c) 3 (d) B. (e) None of these 
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.following element is 11th from left end of the series?
कनम्नकिक्तखि ित्व श्रंखिा के बाएं छोर से 11िां है?

(a) B (b) H (c) 3 (d) W (e) None of these 
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How many elements are between the 4th number from the right end and 
3rd symbol from the left end of the series?
शं्खिा के दायें छोर से चौथी संख्या और बायें छोर से िीसरे कचन्ह के बीच
ककिने ित्व हैं?

(a) Four (b) Five (c) Two (d) Three (e) More than five
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TCB    YUQ   IFL   BND   DNU   ACT 

When first and second letter of each word is interchanged, then how many meaning 
full word will be formed? 
शंखिा के दायें सुरिा किचऔर सुरिा के साथ सुरिा के बीच में सुरिा के बीचक्या हैं?

(a) Three (b) Two (c) One  (d) Five (e) None of these 
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TCB    YUQ   IFL   BND   DNU   ACT 

If each consonant is changed to its previous letter in the alphabetical series and each vowel is changed to 
its next letter in the alphabetical series, then how many words contain at least one vowel? 
यकद प्रते्यक वं्यजन को िणभमािा श्रंखिा में उसके कपछिे अिर से बदि कदया जािा है और प्रते्यकस्वर को
िणभमािा श्रंखिा में उसके अगिे अिर में बदि कदया जािा है, िो ककिने शब्ों में कम से कम एकस्वर होिा है?

(a) None  
(b) One  
(c) Two  
(d) Three   
(e) None of these 
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If last letter of each given word is changed to its next letter according to alphabetical 
series, then how many words contain more than one vowel?  
यकद प्रते्यक कदए गए शब् के अंकिम अिर को िणाभनुक्रम के अनुसार उसके अगिे अिर से
बदि कदया जाए, िो ककिने शब्ों में एक से अकिकस्वर होगें?

(a) One    (b) Two (c) None  (d) More than three (e) None of these 

TCB    YUQ   IFL   BND   DNU   ACT 
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TCB    YUQ   IFL   BND   DNU   ACT 

If words are arranged according to the alphabetical series from left to right, which 
word is third from the right end? 
यकद शब्ों को िणाभनुक्रम के अनुसार बाएं से दाएं व्यिक्तस्थि ककया जािा है, िो कौन सा
शब् दायें छोर से िीसरे स्थान पर है?

(a) BND (b) DNU (c) ACT (d) IFL (e) YUQ 
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If each letter in each word is arranged according to the alphabetical series from left 
to right, and then first and second letter are interchanged in each word then how 
many meaningful words will be formed? 
यकद प्रते्यक शब् के प्रते्यक अिर को बाएँ से दाएँ िणभ-श्रंखिा के अनुसार व्यिक्तस्थि

ककया जािा है, और कफर प्रते्यक शब् में पहिे और दूसरे अिर को आपस में बदि कदया
जािा है, िो ककिने अथभपूणभ शब् बनेंगे?

(a) One    (b) Two (c) None   (d) More than three (e) None of these 

TCB    YUQ   IFL   BND   DNU   ACT 
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Seven people viz. A, B, C, D, E, F and G lives in a Building on 
eight different floors such as ground floor is numbered one , 
the floor just above is numbered 2 and so on till top floor 
numbered as eight but not necessarily in the same order. One 
of the floors is vacant.  There is a gap of more than three 
floors between D and B. D lives above B but not on top floor. C 
lives immediately above B. E lives on floor number 4. F lives 
immediately below E. A lives above G, who lives on an even 
numbered floor. 

साि िोग अथाभि। ए, बी, सी, डी, ई, एफऔरजीआठअिग-
अिग मंकजिो ं पर एक इमारि में रहिे हैं जैसे रू्ििकी संख्या एक

है, ऊपरकी मंकजिकी संख्या 2 है और इसी िरह शीर्भ मंकजिकी

संख्याआठ है, िेककन जरूरी नही ं कक एक ही क्रम। इनमें से एक
मंकजिखािी है। D और B के बीच िीन से अकिक मंकजिो ंका अंिर
है। D, B के ऊपर रहिा है िेककनशीर्भ मंकजि पर नही।ं C, B के
ठीकऊपर रहिा है। E मंकजि संख्या 4 पर रहिा है। F, E के ठीक
नीचे रहिा है। A, G के ऊपर रहिा है, जो एकसम संख्या िािी

मंकजि पर रहिा है।
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Who among the following lives on ground floor? 
(a) B. (b) G (c) F (d) A (e) None of these 

Who among the following lives immediately below the 
vacant floor? (a) G (b) A (c) E (d) D (e) None of these 

How many persons lives between D and C? (a) One (b) 
Three (c) Four (d) Two (e) None of these 

Who among the following lives on Top floor? (a) A (b) D 
(c) F (d) G (e) None of these 

Which of the following floor is vacant? (a) 8th  (b) 6th  
(c) 2nd  (d) 1st  (e) 5th
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K, L, M, N, O, P and Q are sitting in a circle facing 
at the centre and playing cards. O is neighbour of 
K and N. Q is not between P and M. P is to the 
immediate right of K. L is second to the left of Q. 

K, L, M, N, O, P और Q एक िरत्त में कें द्र कीओर

मुखकरके बैठे हैं और िाश खेि रहे हैं। O, K और

N का पडोसी है। Q, P औरM के बीच में नही ं है।
P, K के ठीक दायें है। L, Q के बायें से दूसरा है।
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Which of the following does not have the pair of 
persons sitting adjacent to each other? 
(a) LK 
(b) ML 
(c) NO 
(d) QN 
(e) QK

Which of the following pairs has the second person 
sitting immediately to the right of the first? 
(a) KL 
(b)ML 
(c) OK 
(d) None of these 
(e) KP
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Which of the following persons are sitting adjacent to 
each other in clockwise order as shown? 
(a). LQM 
(b). PLM 
(C). MNQ 
(d). ONQ 
(e) None 

Who are the neighbours of L? 
(a). K and P 
(b). M and N 
(c). P and M 
(d). None of these 
(e) L and K
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Six persons (C, D, E, F, J, K) were born on two different dates 5, 
12 of three different months viz. March, May and September. 
Only one person was born on one date of a month.  
J was born on the 5thof a month having 30 days. Not more 
than two persons were born between F and E. C was born on 
an even-numbered date but immediately after K. Only two 
persons were born between J and C. D was born on one of the 
months before E. K was born before F but not after D. At least 
two people were born after F. 

छहव्यक्तियों (सी, डी, ई, एफ, जे, के) का जन्म दो अिग-अिग
िारीखो ं5, 12 को िीन अिग-अिग महीनो ंमें हुआ था। माचभ, मई
और कसिंबर। केिि एकव्यक्तिका जन्ममहीने की एक िारीख

को हुआथा।

J का जन्म 30 कदनो ं िािे महीने की 5 िारीखको हुआथा। F और E 
के बीच दो से अकिकव्यक्तियोंका जन्मनही ंहुआ था। C का जन्म
सम-संख्या िािी िारीखको हुआथा, िेककन K के िुरंि बाद। J 
और C के बीच केिि दोव्यक्तियोंका जन्म हुआथा। Dका जन्म E. 
K के जन्म से एक महीने पहिे हुआथा। F से पहिे िेककन D के बाद
नही।ं F के बाद कम से कम दो िोगो ंका जन्म हुआ।
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Who is bron in 5th of September  
(a) K 
(b) J 
(c) C 
(d) F 
(e) E 

Who is born just after E. 
(a) K 
(b) J 
(c) C 
(d) F
(e) None of these  
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Who is born on 12th of May ? 
(a) J 
(b) E 
(c) D 
(d) F 
(e) either D or F 

Which of the following pair are born 
in same month 
(a) K-C 
(b) J-F 
(c) C-D 
(d) F-E 
(e) E-K
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If it is possible to make only one meaningful word from the 3rd, the 6th, the 9th and the 
10th letters of the word 'PARENTHESIS' using each letter only once, last letter of the word is 
your answer. If no such word can be formed, your answer is 'X' and if more than one such 
word can be formed, your answer Y. 
यकद शब् 'PARENTHESIS' के िीसरे, छठे, नौिें और दसिें अिरो ं से केिि एक बार प्रते्यक अिर

का उपयोग करके केिि एक साथभक शब् बनाना संर्ि है, िो शब् का अंकिम अिरआपका
उत्तर है। यकद ऐसा कोई शब् नही ं बनाया जा सकिा है, िो आपका उत्तर 'X' है और यकद ऐसे एक

से अकिक शब् बन सकिे हैं, िो आपका उत्तर Y है।
(a) R                             
(b) T 
(c) X                          
(d) Y 
(e)None 
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